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Maulana Azad National Urdu University
B.Sc. (MPC/MPCs) I Semester Examination - December - 2018

BSMM101CCT : Calculus

sl
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cosh® x—sinh’>x=........ (i)
DATERYENC) 2 (c) 1(b) 0 (a)
6‘; [oos(ax+8)] = ....... (i)
a"cos(ax+b) (p) a" cos(ax+b+%7-z—) (a)
a"sin(ax+d) (q) a" sin(ax+b+%) (c)
-ﬁa(reduction formula),b_JL.‘ap{fK ISin" xdx (i)
’]/-2 sin® xdx=....... (iv)
17 16 7 0 8 |
35 (@) 35 (©) 15 5 @

Uendl x=b 4 x=a (iength) Jlg’d/arc £Y:f(x)(curve)(5¥ (v)
{{1+(%) }dx (b) J- {1+(%) }dX(a)
[ yax (g [7*dr ()
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- perimeter 7 =49 (curve)df) (vi)

7a (d) ra’ (c) 2ma’ (b) 27a (a)
tv(generated) g/:"‘c,(revolution)gf;// £ (x-axis) )45 X ;?:/r)’" s (volume)(iﬂ (vii)

-c.(bounded),Jc—x a,x=b (ordmates)u”’wfy f(x curve)fwia
Ara  Hrag I v () Ly
%1-:-: ............ > R(f)=sinti—costj+2k S (viii)
[R(t)yar=.... = R(0)=(20-32)i+20]-30k fi (ix)

-5l I (Kepler's first law) 2§ Agéuff (x)

r» 2

_,/r;hf(asymptotes) i LY -xXy+2xp’ —y+1=0 (curve)df
‘(1+x2)yn+2+(2n+l)xy,,+1+n2yn:0 ,-6/%&.? gy y:ln(x+\/l+x2) ﬁ

2 a " P
_]n:_%f_a_.]n_1 ,ﬁfqe}ﬂln:'[(az—xz) dx, (n=0) /i
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2a 32
_;/(evaluate) ot [x3(20x~x2) dx
0

L(curves)-1<x<3.y=0,y= Jo-x* 4 x-axis ;?;/(}’” (volume) ﬁb’(solid) Jﬁ’u‘f
_c‘-'l;‘ec,é:‘.;zibounded region

_/p# (length) 3§ loop £ 3y =x(x-a) (curve) e

b ««constant{i 2 Uiz R(f)=coswti+sinatj i

2
d§+mm:00)

indltiz ok (i)
horizontal #L-Z launch angle 30" usl(initial speed) ny Jw.’J 400 m/s projectile //!
_;/‘/':L’”rangemc:’: ¢ flight,(maximum height) ¢/~ (.y‘?.!? sl fireeorigind 4
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_s/ (trace) ,‘5/"/ y*(2a-x)=x", (a>0) (curve) u’/

-1/ (trace) ff/"f r=a+bcost (curve) e

e (evaluate).s! e J'cosec3x dx (i)

-3/ (evaluate)is! & [sec’xax (if)
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x=a(0=sind), y=a(1-cos6) (curve)’y y=0 25/ (surface) £ (solid) U#ur (13)

¥ (? < (revolution) J;/U
/bl /(Kepler‘s Second law) 4 ;/::Lu‘/.%-‘f (14)
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